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N =
Bt RER (N)  HIELL (%) [1R6UEE () BIEL (%) FIBE (%) BIFREE (%)
JAL - JTAD)L—T &3 563,694 100.4 667,192 94.0 84.5 79.2
MER AL 261,633 98.4 275,180 925 95.1 89.4
JTA 258,228 102.5 333,630 95.5 774 721
RAC 39,382 99.4 53,150 932 741 69.5
JAC 4,451 11.4 5,232 95.6 85.1 73.0

i Iz
iR Bt REHR (N AIEL (%) [REVEE (%) BIEl (%) FAE (%) BEHRE (%)
IH = AbEH JALJJTA 221,238 97.8 231,564 91.7 95.5 89.5
=308 JAL 40,395 100.6 43,616 96.4 92.6 88.7
R8T = AbER JTA 22,875 102.8 27,720 96.6 82.5 715
f&E = 30%R JTA 48,695 108.9 55,275 96.3 88.1 779
PH=A1E JAL/JTA 17,438 103.9 18,480 96.6 94 4 87.7
PH==H JALLJTA 8,895 103.3 9,240 96.6 96.3 90.0
B = 4iE JTA 6,690 121.2 9,240 96.6 724 57.7
A== JTA 6,628 141.4 9,240 96.6 71.7 49.0
chib = AhER JTA 33,743 96.7 36,960 96.6 91.3 91.2
[ = BrER JTA 8,471 102.4 9,240 96.6 91.7 86.4
IR = BBER JTA 6,741 97.8 8,580 89.7 78.6 72.0
BHE=BEXS JAC 1,029 99.3 1,296 96.4 79.4 771
BHE=5#H RAC/JAC 3,438 126.4 4,144 97.6 83.0 64.1
BB = ok REP JAC 2,202 122.8 2,592 93.1 85.0 64.4
BANRET 428 478 100.9 467,187 93.9 91.7 85.3
BHE==r JTA/RAC 49,307 94.2 75,070 945 65.7 65.9
g =hAia JTA/RAC 42,971 100.6 65,090 95.2 66.0 62.5
BFE=AKE JTA/RAC 16,371 102.9 22,040 835 743 60.3
IFH = AR RAC 3,246 118.9 5,600 128.7 58.0 62.7
AR =LK RAC 1,535 130.1 2,700 186.2 56.9 81.4
g =5HE RAC 2,991 89.8 4,200 95.5 712 75.7
=EhH=%RM RAC 4,200 110.8 5,600 96.6 75.0 65.3
A =53E RAC 7,250 99.9 9,650 95.1 751 715
=h=AlE RAC 4,079 82.4 5,600 72.3 72.8 63.9
BT 131,950 97.5 195,550 933 67.5 64.6
TEHRRRIR ST 560,428 100.1 662,737 93.7 84.6 79.2
ATERRREAR ST 3,266 194 .4 4,455 192.9 733 727
PIRIFSET 563,694 100.4 667,192 94.0 84.5 79.2

AR ol a

BARMS U AF—I vz KR

member of @




@) JTA a5V AA—Uvofiize JTA GROUP NEWS

<28 EY)EMEEXERE>

A =sY) - #iE

B AR BN e TeEn @
BH7G = BPER JTA 124 126
1 = PR JTA 239 89.2
P =71 JALJTA 79 1028
P == JAL/JTA 51 116.1
RS = 1S JTA 26 811
BT == JTA 20 1893
thf = BBER JTA 162 794
L = 3P JTA 14 856
/i = FBER JTA 2 533
BHE=5 RAC 1 773
EAREt 727 942
BHE=—=5 JTAIRAC 493 883
=11 JTA/RAC 352 923
WE=AHKE | JTARAC 83 82.1
g = AT RAC 18 702
g =bAE RAC 9 772
g = SHE RAC 21 101.8
=i = Z R RAC 30 1034
Gia=53E RAC 43 934
=i =i RAC 16, 1077
BRERET 1,065 89.0
TR AT 1.791 91.0
ATEHARIRSET 0 =
IR AT 1.791 91.0
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